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Blood Relation Quiz 32

Directions: Study the following information carefully and answer the questions given below:
G is the mother of F, who is the spouse of D. M is the daughter of D, who is the only brother of C. E is the son

of G, who is married to H. A is the niece of C, who has no sister. T is the father of D and has no daughter. V is
the sister-in-law of F. G has only two children. M is the granddaughter of O.

1. How is V related to M?

A. Paternal aunt B. Maternal aunt C. Slster D. Either Aor B E. None of these
2. How many female members are there in the family?
A.7 B.4 C.5 D.6 E. Can't be determined

3. Find the odd one out?

A.V B.D C.C D.F E.O
4, How is F's mother-in-law related to T?
A. Sister B. Father C. Wife D. Brother E. None of these

5. Who among the following is the sibling of F?

A.G B.H C.V D.E E. None of these

Correct Answers:
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COMMON EXPLANATION:

Reference:

G is the mother of F, who is the spouse of D.

M is the daughter of D, who is the only brother of C.
A is the niece of C, who has no sister.

T is the father of D and has no daughter.

Inference:
As per first and second hints, it is clear that D is the husband of F.
As per last hint, we can say that Cis also male.

- +
G T [ ] = Couple
‘L J' { } : Si:liengs

[ F-{ D+ ]C+} t—l~~|iljler|nale

|
{A ™}

Reference:

E is the son of G, who is married to H.
V is the sister-in-law of F.

G has only two children.

M is the granddaughter of O.

Inference:
As per first and second hints, it is clear that V is the wife of E and E is the brother of F.
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Answers :

1.

V is the maternal aunt of M.

Hence option B is correct.

There are 6 female members in the family.

Hence option D is correct.

O does not belong to the second generation of the family like rest of the persons, thus the odd one
out.

Hence option E is correct.

F's mother-in-law is O, who is the wife of T.

Hence, option C is the correct answer.

Clearly, from the family tree we can see that E is the sibling of F.

Hence, option D is the correct answer.
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